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For questions having more th
be written t = 140 one part, the answers to t
ogether in continuity, o those parts are to
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If there is any kind rror / diffe
of error / difference / contradiction in the Hindi & English
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Question Nos. 14 to 2 z i
0 20 have the internal option. Attempt any one option

whenfiat & fe s Bew -
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) qfteef Tt 1O Y U O AHieh AHErEd Srara: ol
Candidates must write first his / her Roll No. on the question paper

compulsorily.
All the questions are compulsory.
mwmwaﬁﬂém—gﬁmﬁgﬁ%@l

Write the answer to each question in the given answer-sheet only. LE
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SECTION - A

E{‘Q’%Wlﬁ o9
Multiple choice questions:
i) e oA oI Swrde, govee us Al GEIh o S B
3y) hra =) fesrei
w) vuswH @ g) W% Agdl !
The author of the book 'General theory of employment, interest and money

B) Ricardo
D) J.K. Mehta
[1]

is -

A) Keynes

C) Adam Smith

= 8§ Q@ Sa—ar gaf® sl § Hufawal 78 g gar?
wRdtE = d6

=)
et afagfa eik fafaa =i

) TH
3) 3
Which of the following could not be decision maker in macro economics?

Q) SUHIHT

A) State
B) Reserve Bank of India

C) Consumer
D) Securities and Exchange Board of India
3ifam YRUT HUIGTAT FHEATAT 8 —
37) =UIes d<h F) HoI S
w) At "5 g) vEHM d%
B) Central bank

The lender of last resort is called -
Commercial bank

D) Co-operative bank

(1]

A)
C) Private bank
f 4 @ sia—dt gREmi gg1 & Afafes g 999 &1 w1 o Thdl 27
31) @ F) g

@) dFgudA g) SWite Gt

Which of the following asset other than money can also act as a store of

value?
A) Gold B) Land
C) Bonds D) All of the above
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V) 3mmmm®mﬁmqﬁmw,mﬁﬂ%.—

39) GG E') A "T':Jh

w) RAfRaw 3)  HeawE

The part of income that is not consumed, is called - :

A" Shving B) Consumption propensity

C) Disinvestment D) Depreciation

ST "N R wEequt Rutes § -

) == ) IuEm

) W™ 7) fEw :

The most important determinant of consumption d.cmzmd is -

A) Saving B) Consumption

C) Household income D) Investment

= J | wa— wma w2

H) Ty =z q)  IAE HL

H) i oyew 3) waEr R

Which of the following is direct tax?

A)  Wealth tax B) Excise tax
C) Custom duty D) Service tax

viii) S TEG I T IR0 R

H) T e ) wgH
|) g 3)  Iules |t

Example of public goods is -

A) National security B) Roads

C) Government administration D) All of the above
ﬁwﬁﬁaﬁq—mémaﬁzmaﬁgmmwgm%?

H) FAOE-AF )  WARA-vum

") fra-hw 3) T T sifRE—sten

Which of the following is an incorrect pair of country and its currency?
A) Japan - Yen B) India - Rupee

C) Britain - Leera D) United State of America - Dollar
= 8 @S- 2w @ dEfm 22 [
H) favw anfefs am ) H\UR SR
|) SAmR " 3) Y =R
Which of the following is related to tariff?

A) Special Economic Zone B) Trade barrier
C) Trade subsidy D)  Free trade

SS—10—Economics




Xi) STNR 3eiegaren § gt fesaraengi @ fAuiwor gar 2
3H) TR g™ =) FIqATTHT gl
¥) ICEE g g) @R g
All the economic activities are determined in market economy by
A) Market B) Consumer
C) Producer D) Government
H) =afEsevmEa =) GHE A H
q) =afe ik wwfe 3= A g) TAH | Hg A
Study of various markets is related to -
A) Micro economics B) Macro economics
C) Both micro and macro D) None of the above
THE TG HT THIEHOT @ —
SU)  Mi=SPgs P ol %) ‘M=Px,+Px
SNV s = B M = Px B
Equation of budget line is -
A) M =P xR M. =iPocsB. x.
G M=kl ) M=, xc. iR,

IUHIhT it B

IuAh At
Which of the following is a determinant of demand for a good?
A) Price of good B) Consumer taste
C) Consumer preference D) All of these
o § & T =6 AFATER AARETd HTHA g 82
) 3itEd giadi and 956 q) T RR @wE T
g) sitaa fRr e 9% g) T uREdl AvE T
Which of the following curve has rectangular hyperbola shape?
Total fixed cost curve

A) Average variable cost curve B)
Total variable cost curve

C) Average fixed cost curve D)
et ETTA 3R el IREd AT 6 Hed S g @ -

) sitEa @ra & "l F) T RR AwE & "R

@) e e & g) aitda fer @mmE & s
Difference between total cost and total variable cost is equal to -
A) Average cost B) Total fixed cost

C) Marginal cost D) Average fixed cost

SS—10-Economics [ Turn Over
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xvii) qot st &t ves watfies afafsa o @ -
W) i ™ 3 Hwgm
The single most distinguishing characteristic of perfect competition is -
A) Goods discrimination B) Price taking behaviour of a firm
C) Excess profit D) Price rigidity
XViii) afe win qen ofd = 3 2t o R d A wqem S i -
¥) ghg T a) & gl

q) sufafda it 3) T U AW

If demand and supply curves both shift to the right, the equilibrium price
will -

A) Increase

(1]

(1]

B) Decrease

C) Remain unchanged D) Any of the above
frt zomit 9 of Hifvo ;
Fill in the blanks :

TS et 1 U HeH wream 2|

(1]
Money is the commonly accepted as medium of ’

T ST 0 A | Hey ) s wwm d) (1]
function describe the relation between consumption and income.
Wmhﬁ@maﬁ%m 1 T R ) 1

has been setup to ensure stability in international transaction

S.
Feferaen 1 Feream e 9 2
The closest example of a economy is the China.
The excess of revenue over cost is called

i e e e % aea # ik

Free entry and exit of the firm implies that the market price will always be
equal to :




3.3 TIRIcHS 9T

. AEHA HT AT 3R 3TN 3ARST W FI7 g 9T AT? (1)
I FEHGT o AT 3R 3T 3ARFT A caraw 3 3R arAfos d@e dar
o, o SRS &¢T, 3l 3cute fORT, 3R &g ¢t & Terelifas
3TERAT .

i. Bfea dlaf &1 F1§ vw Areww R_A¥T (1)
34 £ dfohdT

i, HHATT 39T ggfar @ 3T FAT AT 82 (1)
3T AT 39T g9 (MPC) St § b 3ma & fondy o 3rfaRera gefer &
fopcterr fREdr 3usiier W @ fohar Srer @

v. fader & gosmEUl (1)
30T Tdr 3 1 9§ 19T § S aredides Yoit AT & forr @ fehar sirar
gl




. foeta apor iy o @1 g AT (1)

3y K =1/1- MPC

i. arye O s &1 3T Tose fHifav| (1)

39 Useufa gds A a¥ & 99 H Tc & el Jeal & THT 39 d¥ &
fT #IRd WeR Fr IgATAT FIieTat 3R a7 Fr1 fqaxor Tgamn, 58 58
HET & "aiNe [T [T gl = &

i. facel RfFHAT IR ¥ Fa71 3mAay 82 (1)

3TV faeRl fafeisa STeiR (AT BREFE/FX) Ueh faehdleha dffaeh STeiR § S8l gieiar 81X &
HETU Ueh-gaY & HFbael TAGT 3R 9= el §

. 3rdeuaTdT Y FIS T Fag gATAT Af@ (1)
3L T 3cU1esT foham S 2

ix. 3cUTCel Peoled AT 87 (1)
3¢ 3cUIEeT o T 3R 3cUIGe ATAT & ST FaeY ol 3cUlcs] holel hgd
$Ed ol




x. HHATT ITNRNAT T ATIHT FAT ATAT 872 (1)

3T AT 3TN (Marginal Utility) &7 3187 § forell a& ar dar 7 teh 3ifaRed s
& IUHNET & IUHFAT AT Ao arelr 3faRed dqice ar .

. ot gfavaet aeR & afaqfd @1 3 wessv (1)
30T qul gfaegel SeiR A, Ife Ry AT W aeR & 3Mqfd, AT @ 34786 gler g,
38 sfRgfd wga g

i. qor gfaraul s F=4r 872 (1)

3T qUT giaeae’ e Ueh U Heuifde dTeiR X9 § ST8l 3feis TR
3R fAohdr gid §, 3cUle IH%YT 8ld &, 3K &5 o fAaghdr a1 @iiegr aaR T
Fraar & gATIad Agr P Hohd




gs g

TGRIcHS T
4.3M9% AR Yollarel Fdeqasdr & S & Y@ &0 adsel  (2)
3T qollardr 3rdegaedn $r fawdn

sl wufar &1 sffer: @6 guia S & Ui, sRam, #eie, @89 3 @6l safFaat ik
Safadl & FaifAca & g dhd &
Hed d9: 3MYfd 3R ART T diehd 3rdeqaedr # SIAGH 3R 3cresT & &€ &1 FuiRa #3Em)

5. If¢ 3T Beled C=40+0.75Y IYT fAAY 1=10 FAS IYT g aY TIIAT
FATA AT FT {ed AT DT | (2)
3.



https://www.toppr.com/guides/biology/life-processes/nutrition-in-plants/

6. WMFR Folc garT YN FF FA w1l 82 fad=an fifgwr (2)
300 TR, dolc & ATEIH O FFUNHI0T S (stabilization function) e
e IdR-TGE F FH A iR UG I FT 9T F:AT gl TIg TopNg
Afd (fiscal policy) & 39T &, 19 foh @I 3 T & deard b, GHT AT
A AT FT TRl B

7. i & 7§ e WereT aiferdr A AT AT AT hifare- (2)

S.No.

Items

Value (In million $)

1

GEIGI (Export)

160

JTATA (Import)

240

U W (Trade Balance)

?

3T HG (Invisibles)

50

dTel gid & AV (Current Balance)

?




8. e AR YAHeTFA A Ag T (2)
TR HaH oG lio-ld-clt\(vl-licho-l

37 HIHeTT AT HAdeld ¢ b PR Gl cdihel T HAdeld g b TR

o

STAGGIRT 3T HGT T Hed hA Il | SATAGHR 3TaAT FHeT HT Hed el &,
¢, T ad ag facel Hamit & Heprael foad ag facel HAem3it & Hhed
FER & S & gl & S €
eI @ AT FEAT 81 S g, fSad | geisedreheT 8 At #gIm g Sl g
3T QT H URAT 3cUrel &1 AR g6 | oad 3T &2t F ARAT 3curer &
STl g AP H & ohal §.

9. HHRIcH® A fAdAor qur 3meeisd 1 Ragsm fHifSw] (2)

I, RRIcHS A fAAYUT (Positive Economic Analysis):
. Ig T320vur 3rdcgaedr f aedias AT, a2t 3R 3&sr FT 37EITT FAT gl
. Ig "I g" oot WX 3menRa gar §, S | H FAT 8 I@T &, ST JUIT T gl
gt 3mfds f@dwur (Normative Economic Analysis):
. Tg faeewur srfegaedr &4 gle WIfgw, 38 W shied gidr &l
. ¥g "I Bl AIEY" (as it should be) EfSeahIvT WX 3MMRA 8T §, 3 afae 3R AT
Hedl & 3MUR W A0 o g




10. 39T F41 §? UF 3SEI0T T FEAdT § HHSAT (2)
3T 39AAAT R aFg A1 Far § 3UAFAT H A arelr TJfSe ar a3y H
AT
3ETeX0T & foIT, 59 3T @ oFle] W WAl Tl ¢ ol 3T9eh! ST Jise fAerar
g, dg 39 Gl I 3uA3ar gl

11. SH & S 3cqlcel I I e NEERCGIL

3T HH & Pl 3cUle Ioh (Total Product

Curve of Labour) Teh UIT 3% g ST H# I
faffiest AT & WY 3cUeA & Fel TR F
ST I & e2Tar g, Siafeh 37T g R
&R wd




Aad 3caed R AT IcueT H AT STl

Ha 3cures dATa 3carea
3T 3cdrea (AP) 3cdrgeT AT 3cdrea (MP) T 3TTaRad
9fd gh1e 3T 3M3eYe HY 2Nl | FYe ShIg (S, Teh 3R FAART,
g. AT 3fE) & IUT A FI cUIeA
H gl arel IRadeT & galfdr §.
AP &I ITUTAT el Icdlee (Fel MP &Y 01T el 3cUTee] H aRace
3T3CYCT) N Fol SAYC HiT SHEAT | F FaAYe A IRaaT & fanfaa
a Asnfaa & & 1T g Hlh Fr AT 7.

13. U& GH & Fo HYMCT FT IG@HAT qA1C]
3T Ush BH FT el FUIfed (Total
Revenue) ash, 3cdTesT &1 AT H Jeio &
1Yy, Uk el 3@T & §9 F g2Tr S g,
Sl #T fg @ Y& g IU AT 3 Feall
3




s
A 3UUCHS FT T
14, farafaf@a gaad I8 3ma gaeaal &1 faeawor fifdwl (3)
i. TSR AT 9T GFA G 3c916 (GDP mp)- FRET gor & SAT & M, Th
fAfad 3afer & 3curfed @alr 3ifam awga 3R qad & SR HoF & Fd
AT 8, TG 3cures 3R 3R™a W T iAo gia & 3t afewsr & geran
ST B
ii. WU AT 9T o 86 3¢Ug (GDP fc) FRET 421 i ee] AT & MR, Th
oEr a¥ #, §HAT AT SaRT A, ome, saTe e & ®9 H foid 3

T Fel AT, @A Gl 3usieT (fAamae) sy anfAer &

iii. TSR AT I YEH B 3c91G (NDPmp)- FREY 32T & ool €T &, T a¥ #
gl 3cureel gaRT 3catfed 3ifad a&g3it 3R @it & IR #e3 # ¥ =R
Jail & 39T (depreciation) I TR 9TCd gidT .




fArfaf@a sraurRum3t &1 Qedwor fifaw

i. faaer 39w (Net Investment)- g faer «r 313 g, Cj\ﬁﬁﬂ?f gRagfat (G

7MY, 3gHOT) H AT A & 916, 37 gRAIRAT & Hedegld (wear and tear)
Sl Ul & dig St AR Il &

ii. Hed &l (Depreciation)- Hedeld ol kTE)) g fopdr o & He H AT & 91y

HHT 3T, ST YA, 3H AT dehailehl Soelid & HRUT @ hdl gl

iii. FEFadf HQ-T:ID'@' (Intermediate Goods)- HEITAT d{-glk\’ya 3cUIG & Tolelahl STAHT

3cUTeel @ Yishal # shed Aol AT g TEG3HT & AT & fohar Sirerm &, o
foh 3TUTd, o], AT FR & Tof,




15.  OQioeerd a9 3R R Aeanrd s F491 g dar 872 ©)
30X: ASERTd <99 (Plan Expenditure):
. T UG I ANSTAI3T AT HRhAT T YE I AT AlS[ET AT H AWE deld & T
feRar ST §.
. ¥E AR W JIasT I3t (FYP) & R fatRa g §.
. 3V & AU, fhdll AT Hseh AT a1 Fopel dllel & fAT foham aram @ Aol g
gl &.
- ASErera ==@T (Non-Plan Expenditure):
. U O UGl Juauig Jdlelell Aty & 19T 9615 I8 A3l § 3cdesT 8IdT .
. g YT TWHR & FIAT Freer 3R a3t & 9910 @A & T fhar S« g,

. 30T & AT, HAARAT S A, U, ST HT T, AT BT R T IR-ANsTeATeTed
T # 3T §.




ToEd 3R gATaT 38 &A1 3T §? AR
3dY. ToIEd 9T (Revenue Expenditure):

I T TGI BId g o [l SIaaT IT TIER & ¢fdeh ATl &l gAT0 (W@l o ToIT
frr S €. T @ afAd 3R sredeiers gia &, 3R s X ot e &
3ETgIUT: dddd, Toetall Toel, fohar, TWR@E 3R fFAq, faamas anfe.
YSilerd ¥ (Capital Expenditure):

¥ J @Y gld § St rdehiiaeh d9 (S8 o #MeT, a1aeT, 8ff@) 1 @l ar gur
& foT fpT o9 &, T T Eraeies 8ld ¢ 3R 59 #fasg & oy ear &.
3GTEIOT: 15 AMT AT Tllg, d1aeT &1 AT, ofF i @lig nfe.




16. wﬁw%mmaﬁi@ﬁaaﬁm#mﬁm €)
37T 3UHFAT & SSCdH IIeT I IWIaT '
A & ToIT, 4 Sofc 3@T (Budget Line) 3iR
3STEITdT dsh (Indifference Curve) T YT A
¢ g5caw foig a8 § el doic (@n fohdll
3STHTdr dsh & T Sl g, 3rATa IuMeEar
I 3T & IR TR dA TS Ired Ll
el
3adr
AT & fagd & e @R i gegar @ Tuse FHifs)
3 AT &7 =97 (Law of Demand) 9dTdT &
for, 3w @l PR TR @l R, Tl aeq &
AT dead IT 3HHT AT Hd g Sl & 3R
AT Gcal W HART d¢ Sdl 81 39 Th

ThRIcHS Gellel dlel HART dsh (Demand Curve)

T AT ST §.




17.  fowa arfdsr & v wfawadt wF At Fo awra (1¢ ) Fr gufar mar ¢ avg A Hora

%10 & §§ ¥ 3cUeA ¥ YAF T W @ T Ao Hifaw ®))
Output Level TOTAL COST (X) Profit (X)

1 15
22
27
31
38
46

Udar
farer arfast & & waAf A gfed IR ss1 3K ss2 & 1§ § a9 qfd wwoft &

qRead Hifaw
Price level Firm | Supply (SS1) Firm Il Supply (SS2) Market Supply

5 7

7 11
10 15
15 20
18 26
25 33




YUusc
fATtTIcH S 99T

18.  #e1 qfd fAu=or & fav Red dF g@rr Irv=e 9 ara Aifdera suwon
F1 faedwor ffSw (4)
3 HeT gfd A0 & faT Rerd 9% g@nr 39T S arel siifderd 3aeon

(v v amse 7 W foegat dr s S &)




3ryar

R srdedavr # fBfoee dlel #r gorfa o rger fRAvdwor gwga ffGw
IaY: ARG 3rdeuaedr & Bfoed dlar (Bfoed cotere) Fr gorfa 3ear@aig g, St
fefoteer Jrdfcaear 1 gemar & W § 3R 3 fdepra & FAgcaqul oA e @
£1 2030 d& 3foee 3rdcugear & TSET 3T T o9 20% AFTETeT el i

. 3nfdF gafer:
2014 & 2019 & o=, TR v f3fotee rdcgaear $r 9efr aT 15.6% W &, S

AT ARAT HYeqaedqT T gef § 2.4 I+ 3HEH &,

. S 7 FereE:
2019 #, 3foicer &7 & QIR 3rdcuarar &1 S & ererer 22% Ream gl &
3TTAT §.

. Y9I
2022-23 #H, Bfoed 3rdecgarar # 14.67 A Al &, S 9RT & FRISA HT
2.55% g.




19. 96IR ART @ FAT AT §? TR AT T T P F [W@IRAT AT G
q GASSUI C))
3X; ¥R _ART (Market Demand)

U g dT dg AN O doR A 3uTedd @eft 39serdr & 78 Herg 3@t A
Tk THT HAT W Tee H 3T AR TAY §| R ART FEAT g

SIS AT a%

S ash aEQ3HT & faffiesT AT 9 HAT SR ST ANT &l adldl § 3H &6k
HIITHY Fed gl

IEE

10+5=15

_

30 |15 \30+15 45

_

50 |25 \50+25 75




YAt

AT 9% e F4i ar &2 ART g § RAve i #@A@r g H [ow & afa :»
Wik & Tase [
3L AFT 9o & T@eE &7 3T § ART g FT 3907 3RAs afa @ a5 ar g5 3k @as
STAT| STe a&q T AT AT © AT aEI3HT H HAT & A5 IRade 7 g | i 307
SRON & HRUT SIF HAGT H IRAdT gIdT § ar Odr ATT H ART ash T WHPIE 3ceT gl
el
9 YR &l IRdde &l YhR & BT g
H’ﬁTﬁ'q«{ﬁ'(lncrease in Demand): a-q'aq——graﬁraqmﬁmﬁr
HIHAT & 3TATaT 30T dedl oilF 3, hae 3fe # gRada g &
aRaciel giar & Ui gefer gidr § o Ol [fufa & #fer o e 4
v 3R TAAART giar &1 58 AT & gefer sgad &

AT H HAT (Decrease in Demand): aaagr@raﬁﬂaa:aﬁﬁw
fohegl 31T FROM F AT HIAT W I&J H FHA AN AT HH HAT
W g HT e & AT U AT § A 3H AT A FHAT hgd B
g FEufa & AT 9 ST & 910 TAHTIRT 8T § JUT AT dsh
AT FT IR FUHAGRT 8T gl




20. foer Wroft F Fo @era @ twa @era AR AT wera Ay arorer

(4)

Total Cost

Average cost

Marginal cost

10

18

25

30

32

3dr
et aroft & o aerg AR e aRads anra oo ffSw

OUTPUT

Total Variable Cost

Average Variable Cost

Total Cost

10

10

18

24

28
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